Date

15.08-A
19.08-H
22.08-H
25.08-A
29.08-A
02.09-H
05.09-H
13.09-A
19.09-H
26.09-A
03.10-A
19.10-H
24.10-A
01.11-H
07.11-H
21.11-A
28.11-H
05.12-A
12.12-H
19.12-A
26.12-A
28.12-H
09.01-A
17.01-H
27.01-H
30.01-A
06.02-H
10.02-A
13.02-A
20.02-H
27.02-H
10.03-H
14.03-A
20.03-H
24.03-A
03.04-A
10.04-H
12.04-A
17.04-H
21.04-A
02.05-H
09.05-A

23.09-A
07.10-H
28.10-H
02.12-H
15.12-A

02.01-H
20.01-A
23.01-H
03.02-A

Opponent

I pswich

L eeds
Southampton
Everton
Sheffield U
Chelsea
Crystal P

L eeds
Liverpool
Middlesbrough
Wimbledon
Blackburn
Oldham
Queen's PR
Manchester U
Tottenham
Norwich
Sheffield W
Nottingham
Manchester C
Coventry
Arsenal
Liverpool
Middlesbrough
Sheffield U
Southampton
I pswich
Crystal P
Chelsea
Everton
Wimbledon
Tottenham
Manchester U
Sheffield W
Norwich
Nottingham
Coventry
Arsenal
Manchester C
Blackburn
Oldham

Queen's PR
Position:

League Cup
Oxford
Oxford
Manchester U
Ipswich

I pswich

FA Cup
Bristol R
Bristol R
Wimbledon
Wimbledon

Result
1-1 (0-1)
1-1 (0-0)
1-1 (0-0)
0-1 (0-0)
2-0 (1-0)
1-3 (1-0)
3-0 (1-0)
1-1 (1-0)
4-2 (1-1)
3-2(1-0)
3-2(2-1)
0-0

1-1 (0-1)
2-0 (1-0)
1-0 (1-0)
0-0
2-3(1-2)
2-1(1-1)
2-1(1-1)
1-1 (1-0)
0-3 (0-0)
1-0 (1-0)
2-1(0-1)
5-1 (3-0)
3-1(0-0)
0-2 (0-1)
2-0 (2-0)
0-1 (0-1)
1-0 (1-0)
2-1(2-1)
1-0 (0-0)
0-0

1-1 (0-0)
2-0 (1-0)
0-1 (0-0)
1-0 (0-0)
0-0

1-0 (0-0)
3-1(0-1)
0-3 (0-3)
0-1(0-1)
1-2 (1-1)

2

2-1(0-0)
2-1(1-0)
1-0 (0-0)
2-2 (1-0)
0-1 (0-0)

1-1(1-0)
3-0(1-0)
1-1(1-1)
0-0 5-6 pen.

Goalscorers
Atkinson
Atkinson
Atkinson

Parker 2

Richardson

Y orke, Staunton, Froggatt
Parker

Saunders 2, Atkinson, Parker
Saunders 2, Atkinson
Saunders 2, Atkinson

Atkinson
Saunders, Atkinson
Atkinson

Houghton, Parker
Atkinson 2
Regis, McGrath
Parker

Saunders (pen)

Parker, Saunders

Parker, McGrath, Y orke, Saunders, Teale
McGrath, Saunders, Richardson

Y orke, Saunders

Houghton
Cox, Barrett
Yorke

Staunton
Y orke 2

McGrath

Daley
Saunders, Parker (pen), Houghton

Daley

McGrath, Teale
Atkinson, Richardson
Saunders

Atkinson, Saunders

Cox
Saunders 2, Houghton
Yorke

c = § & § - .E g - % = g
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1123456 78| 9|10/11|12
112314, 5,6|7|8|9]|10 12 |11*
1123|456 8|7 10|11 9% 12|14
1123|456 8| 9110|1112
112(3/14|5|6 8| 7 10|11 9* 12
112(314|5|6 8| 7 10/(11|9* 12
112314 |5|6 8| 71011 o* |12
1123|456 8| 710|111 9
1123|456 8| 7 110|11 9
1123|456 8*| 7110|171 12 9|14
1123|456 8| 7 10|11* 12 9
1123|456 8| 7 10|11* 9 12
112(3/14|5|6 7 |10 8 9 11*| 12
112314 |5|6 8| 7 |10 14 9 12 |11*
112314 |5|6 8| 7 10 9 11
11234 5|6 8710 14 12| 9 11
11213 5|6 8| 7110 12 4% 9 11
2|3 5|6 8 10 7 9 11 1| 4
1123|456 8|7 10 9 11
1123|456 8 | 7 |10* 11 9 12
112(314|5|6 8|7 10* 9 11 14 12
112314 |5|6 8|7 11* 10 9 12
112314 |5|6 8 | 7 |10*| 12 11 9 14
1123|456 8|7 11* 10 9 14 12
1123|456 8 10* 9 11 14| 7' | 12
1123|456 8 10 9 11' 12 7% |14
21 3(4|5|6 8|7 11* 10' 9 112 14
21 3(4|5|6 8*| 7 11 10 9 1 12
2,1 314|5|6 8 | 7 |110*| 11 12 9 114
2,1 314|5/|6 7 10 9 1|8 11
2,1 314|5/|6 7 11|10 9 1|8
21 3|4|5|6|11* 8| 7 12|10 9 1
21 3|4|5|6,12,8| 7 10 9 11 1
2131456 8|7 11|10 9 1
21345 6|12,8| 7 11|10 9 1
2134|5612, 8| 7|10 11* 9 1
2134|5612, 8| 7|10 11* 9 1
21345/ 6 |11* 7 |10 9 12 1|8
2|3 516|118 | 7 |10 9 12 1| 4
2134|5611 7110 12 9 8* 1
213|456 ,12/8| 7|10 11 9 1
2134|5611 87|10 9 114 12
25 42 42 39 42 42 13 37 39 28 17 13 27 3 4 35 1 14 2 17 15 3 7 1 O
1 2 1 4 2 2 9 3 11 1 1 5 13 1
1123|456 8 | 7 110*| 11 12 9
11234 6 8| 7110 11 519
1123|456 8| 710 11 9
11213 5|6 8 | 7% 10 12 9 11 14 4
1123|456 8*| 7 10'| 12 9 11112
5 5 5 4 4 5 05 5 4 1 2 4 0 1 5 01 00 2 1 0 0 1
1 1 1 2
213*(4|5|6 8|7 111410 9 12
2131456 8*| 7 12|14 |10 9 11
2131456 8|7 11 10 9
21 3(4|5|6 8|7 10 9 111
3 4 4 4 4 4 0 4 4 0 3 2 4 0 0 4 0 0 O 1 3 0 0 0 O
1 1 2 1




